FAOREMBRHERBEHRFTRSE

BF

2014F7H198 ~TH208 ELRT/—UKFKiki5H

B 7 OAH BH |2 B £} | BH Bth |4 =ZF BN | 5 BHE RKFE |6 BA #ME | 7 B OHEH | ¢ FH K—
50m HEWES 254;3 T 264?3 BEH 26425 SIAES 264;2 BEH 274;3 e 274;2 #ErES zsuﬁg Elg 284;3
B 7 B Eh |2 He £33} |9 AH B¥E |4 FH |5 =ZF BN | 6 TR KFE | 7 BEA MT | ¢ Hit &3}
100m |BAF 2R H h3|ENEF th2|p0E 3| BEES 2| FEAH ch3| H3|EXMES 3
56.96 57.08 57.65 58.01 1:00.93 1:01.71 1:03.51 1:04.50
. ;OIS mE | 2 WEH AT | g WK |4 )V ELT |5 HE BF |6 hE M | 7 WA HX| s KE B}
200m |fBER 2 (@& 3| h3|E=F F1EXRMEF &1 |BEXHES | th3|B4iEsf 1
2:12.29 2:15.48 2:16.84 2:19.36 2:22.69 2:23.88 2:30.91 2:32.77
B 7N BE |2 ¥ BE |3 WA E |4 MR XKH|s5 FIIHEX |6 MBI REE |7 BB M| 8 {BRHERE
400m/ =tricles] h3|feEh h2 |t B th2|iEF T th2| iR h3|E= h1|SXRMES &1 xS $3
4:28.21 4:37.95 4:38.05 4:48.35 4:48.69 4:55.74 5:04.89 5:25.18
7 MR BE |2 WA B | s FA —#E |4 AR KH| 5 FKBEN| 6 XKFH KRE | 7 K& B
1553)% BREAEP 3 |fr B ch2 | s e h3|EE D F2|tE = 2| e h3|#EsER B
m ifzﬁ 17:32.93 18:18.45 18:41.60 19:53.77 21:04.45 21:46.01 26:54.41
=
(800m) |ErFr 91755 9:39.58 9:55.58 10:24.57 11:08.26 11:19.38 14:24.15
o 7 LH FRBh | 2 BE HF |3 #H EW |4 N Esh| 5 EE EW | 6 EHA R | 7 LK =& | 5 EEH KX
100m EXMES o3| SmaH H3|EXRMEST 2| EXMES 3|HEWES 2 &%#E¢1 13q;(1) 2k : 16¢§ El o q;g
1:04.92 1:08.16 1:10.10 1:10.17 1:11.09 13 16.7 A7
e e 7 LM FBEh |2 BE BF |3 M EW | ¢4 HE EW |5 /Nl Eih | 6 ER FE} | 7 LU REH | ¢ XW B3}
200m |BXMET &3|SEEH h3|SRMES  dh2|EMEG 2| BXKMED 3|y ER G [EKP h2|EEES B
2:19.89 2:30.25 2:33.40 2:34.52 2:37.31 2:38.39 2:46.18 2:47.31
7 OFEE KR |2 M MF (3 AL BE |4 AR ME| <4 DM E |6 WEFE Eth | 7 BR E | 8 A EF
foﬂaf BAH th3|EARE th3|fEEs h2| EAMBE i |EAMBES 2| ERAT f3|EATH 3B Hh3
" *ﬁé?ﬁ 1:04.09 1:10.58 1:12.89 1:13.98 1:13.98 11474 1:14.76 1:15.59
7 OfEE KRE |2 W & |3 AW BHE| 4 AHBRFE |5 LN EBE |6 NE E | 7 HIE £t | ¢ T EFR
:Foﬂ(;? FAMH 3| FEAH h3|feEh h2| ERMES 1| KL h3|SEXRMEFR 2| SEFEF a3 [:a] R A $3
200m *ﬁé;ﬁm 2:17.25 2:33.00 2:39.48 2:39.73 2:41.86 2:43.88 2:45.98 2:52.23
Naosq4 | 7 EEH Eh | 2 —8B AN |3 TR GH |4 BARKSB| 5 WE AT |6 HE OB |7 KK BA|s B FF
toom BT 1 ooEpz AL 1:0 Lol 104% '%xmﬁnﬁ oﬁ% mEE 1o4q?ss3> Rt 105q;(2J s 106q;$1) A=t 1o7q;.1>
:00.53 :02.32 :04. :04. :04. :05. :06. :07.
NETSA 7~ RN |2 EF Kt |3 TR G | 4 RAFEAE| 5 KK EH |6 WO KIE | 7 #EK EZ | 8 FEH O OIK
200m Am s h3|FEAH 2| EEh h2| SKMEFR d2ltkr B th1|ERSF 2| EEHEF 2 (AN i3
2:15.11 2:15.56 2:23.95 2:25.28 2:34.94 2:39.12 3:04.07 3:21.46
BAARL— | ! KB RN |2 HE MM |3 HmL @z |4 HFHE BEF |5 LN EBE |6 K FHF | 7 KO FH | ¢ WK BX
200m |E&RH h3|EZ F2| BERF 2| SRMES 1| K th3[FE = i |fEEF thi|#r B 3
2:22.72 2:33.64 2:35.10 2:35.84 2:35.97 2:37.20 2:42.36 2:45.07
BAARL— | 1 RBEN | 2 Rl Mz |3 B OER |4 RS ME |5 B BK |6 HMB BE | 7 =R R#H | 8 &H KE
400m |EBR$ h3|EEEF tho | EHIBRE S d[nEd th2|E Lt ho|&BEsrEd 3 |gEEsER  d2|iEd &2
5:07.36 5:38.67 5:47.68 5:52.66 6:15.01 6:16.91 6:30.71 6:48.51
7 AL 2 BES 3 Ry 4 EWEH |5 b ges 6 R 7 wBykEth | 8 BEAET
2% = hiE RE B —iE EE EW JIA EREE KEF HEA mx = HER EZ
L— BR = AO S BN A AE B R HF R b K& 55 HE OB
400m Bk KT FIl BAE MEE PN R A R Il #A - ) FE B
=% £t &=y #RE HETE BB EA $EE Mt e &3} A X INR RBE
Red 3:59.16 4:10.04 4:11.98 4:13.49 4:14.87 4:16.76 4:25.04 4:28.59
(F—ikH) 57.16 1:01.76 58.94 1:04.78 1:05.53 1:07.85 1:03.66 1:07.33
7 BXMEF| 2 ALY 3 BEH 4 B 5 EWEH |6 i e 7 #rEH | 8 ®REsED
. S5H BEsh 2% £ Sl BRE $#EE At HE ER ¥ A A = BEE &
APL—Ub—|  x@E ME BR & xO = 50 & e A R A KA 5 mEE 1K
400m BT ERAER =5 £t wE S o AH B HIl HX K 55 =7 &
¥ EH Tk #E i B NG SR BE EA M £3 WA BX B A0
REH 4:25.75 4:28.45 4:47.39 4:47.83 4:48.26 4:49.54 4:52.29 5:01.17
E—kE) 1:05.14 1:09.19 1:17.23 1:12.18 1:12.41 1:20.85 1:16.53 1:14.82
E14L Fofr Ex]ivs FAML 501 E v E-ylive 8L
A EE SXKES R BEH gt HiwREh hngEE g b e BEARH
e 8 RGRR 9555 6855 6655 4455 4155 3855 364 308




